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çca/k ys[kkadu 

Bachelor of Commerce (B.com-10/16) 

Third Year Examination, 2019 

Time: 03 Hours      Max. Marks: 80 

 
Note: This paper is of Eighty (80) marks, divided into 

two (02) sections A and B. Attempt the questions 

contained in these sections according to the detailed 

instructions given therein. 

uksV% ;g iz”u i= vLlh ¼80½ vadksa dk gSA tks nks ¼02½ 
[k.Mksa] d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn;s x;s 
foLr`r funsZ”kksa ds vuqlkj gh iz”uksa dk gy djuk gSA 

SECTION A/ ([k.M&d½ 

(Long-Answer-Type Questions) (nh?kZ mRrjh; iz”u) 
 

Note: Section 'A' contains five (05) long-answer-type 

questions of fifteen (15) marks each. Learners are 

required to answer any three (03) questions. 

         (3x15=45) 

uksV% [k.M ^d* esa  ik¡p ¼05½ nh?kZ mRrjksa okys iz”u fn;s x;s 
gSa] izR;sd iz”u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 
f”k{kkfFkZ;ksa dks buesa ls dsoy rhu ¼03½ iz”uksa ds mRrj nsus 
gSaA 



S-24/BC-13                         2                                          P.T.O. 

 

1. Define management accounting and explain its 

uses for management? 

izcaa/kdh; ys[kkfof?k dks  ifjHkkf’kr dhft, rFkk izca/k ds 
fy, blds mi;ksxksa dh foospuk dhft, A 

2. What do you understand by working capital? 

What factors determine the need of working 

capital? How is it measured? 

dk;Z”khy i¡wth ls vki D;k le>rs gSA dk;Z”khy i¡wth dh 

vko”;drk dks fu/kkZfjr  djus okys dkjd dkSu ls gSA 

bldks dSls ekik tkrk gSA 

3. Complete the following balance sheet? 

Liabilities Amount Assets  Amount 

Rs. 

Equaity 

capital 

Retained  

60,000 

 

Fixed assets  

Stock 

- 

- 

Earnings  30,000 Debtors - 

Creditors  - Cash  - 

 -  - 

Further information: 

Total debtors is 2/3 of net worth. Turnover of total 

assets is 1.6 one month sales are in the form of 

debtors turnover of stock is 5. Cost of goods sold in 

the years is Rs.1, 20,000 and acid test ratio 

 is 1:1 
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fuEufyf[kr vkfFkZd fpV~Bk dks iw.kZ dhft,A 
nkf;Ro  /kujkf”k #- lEifRr;k¡ /kujkf”k 

#- 
lerk  i¡wth 60]000 fLFkj 

lEifRr;k¡ 
& 

izfr/kkfjr vk;  30]000 jgfr;k 
nsunkj 

& 

yssunkj  & jksdM+ & 
 &  & 
 
vfrfjDr lwpuk,sa% 
ysunkj “kq) ewY; dss 2@3 gS] dqy lEifRr vkorZ 1]6 

,d ekg dh fcØh nsunkj ds :i eas gSA LdaU/k vkorZ 5 

gS] o’kZ esa fcds eky dh ykxr #- 1]20]000 gS rFkk rjy 

vuqikr 1%1 gSA 

4. A company is considering three proposed 

investments of A, B and C. Each required an 

investment of Rs.49000 and has an economic life 

of three years, and total cash flow over that period 

is Rs. 60,000 the pattern of cash flow for each 

proposal differs and indicated belows: 
 
                                     Annual cash inflows 

Year A B C 

1 10,000 20,000 30,000 

2 20,000 20,000 20,000 

3. 30,000 20,000 10,000 



S-24/BC-13                         4                                          P.T.O. 

 

  

The required rate of returns is 10% per annum. 

The present value of Rs.1 received at the end of 

different years at 10% discount rate is as follows: 

1 year= .909; 2 year =.826; 3 year=.751. Calculate 

NPV of each proposal and suggest which of the 

proposal could be accepted? 
 
,d dEiuh rhu lEHkkfor fofu;ksxksa A, B ,oa C  ij 

fopkj dj jgh gS] izR;sd 49000: dk fofu;ksx pkgrh gS 

vkSj mudk vkfFkZd thou 3 o’kZ rFkk dqy jksdM+ izokg 

ml le; esa #- 60000 gksxk] izR;sd izLrko ds jksdM+ 

izokg dk izk:Ik vyx gS] tks fd bl izdkj gS& 

                         okf’kZd jksdM+ izokg 

o’kZ A B C 

1 10]000 20]000 30]000 
2 20]000 20]000 20]000 
3 30]000 20]000 10]000 

vko”;d izR;k; dh nj 10% okf’kZd gSA fofHkUu o’kksaZ ds 

vUr esa izkIr gksus okys : 1 dk orZeku ewY; 10% 

dVkSrh nj ij bl izdkj gSa % 

izFke o’kZ] 909]- f}rh; o’kZ 826]- rr̀h; o’kZ- 751 izR;sd 

izLrko dh ,u-ih-oh x.kuk dhft, rFkk ;g lq>ko 

nhft, fd fdl izLrko dks Lohdkj fd;k tk ldrk gS\ 
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5. Prepare a cash flows statement from the following 

information : 

Opening cash balance       Rs.30,000 

Closing cash balance  Rs.38,000 

Increase in creditors Rs.26,000 

Decrease in debtors  Rs.34,000 

Fixed assets purchased Rs.60,000 

Redemption of preference shares  Rs.28,000 

Profit for the year  Rs.36,000 

fuEufyf[kr lwpukvksa ls jksdM+ izokg fooj.k rS;kj dhft,% 

jksdM+ dj izkjafHkd “ks’k 30]000 

jkssdM+ dk vfUre “ks’k 38]000 

ysunkjksa  esa o`f} 26]000 

nsunkjksa  esa deh 34]000 

LFkk;h LkEifRr;k¡ Ø; dh 60]000 

iwokZf/kdkjksa va”kks dk “kks?ku 28]000 

o’kZ ds fy, ykHk 36]000 
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Section-B   ¼[k.M&[k½ 

(Short Answer Type Questions)  

¼y?kq mRrjksa okys iz”u½ 

Note: Section ‘B’ contains eight (08) short-answer 

type questions of seven (07) marks each learners are 

required to answer any five (05) question only. 

                                                           (5x7=35)  

uksV% [k.M ^[k* esaa vkB ¼08½ y?kq mRrjksa okys iz”u fn, x;s 

gSa] izR;sd iz”u ds fy, lkr ¼07½ vad fu/kkZfjr gSaA 

f”k{kkfFkZ;ksa dks buesa ls dsoy ik¡p ¼05½ iz”uksa ds mRrj nsus 

gSaA 

1. Explain any two methods of analysis of financial 

statements.  

foÙkh; fooj.kksa ds fo”ys’k.k dh fdUgha nks fof/k;kas dks 

le>kb,A 
 

2. What are the important profitability ratios? 

Explain with examples. 

ykHknk;drk ds izeq[k vuqikr dkSu ls gSA mnkgj.kksa ls 

lfgr le>kb,A 
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3. What is a fund flow statement? How it is 

prepared? 

dks’k izokg fooj.k D;k gS\ ;g dSls cuk;k tkrk gSa\ 

4. Explain ‘Pay Back Period’. Methods of capital 

budgeting. 

i¡wth ctVu dh ^iquHkZZqxrku vof/k* fof/k dks le>kb,A 

5. Explain the concept and objectives of 

responsibility accounting. 

mRrjnkf;Ro ys[kkadu dh vo/kkj.kk ,oa m}s”;ksa dks 

le>kb,A 

6. What are the essentials of  a good report for 

management? 

izca/k ds fy, ,d vPNs izfrosnu ds D;k vko”;d rRo 

gSa\ 

7. What is the need of inventory control? Explain 

briefly the objectives of inventory control.  

LdU/k fu;a=.k dh D;k vko”;drk gS\ LdU/k fu;a=.k ds 

m}s”;ksa dks la{ksi essa le>kb,A 
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8. Explain ‘operating cycle’ concept of working 

capital with suitable Example. 

dk;Z”khy i¡wth dh lapkyu pØ vo/kkj.kk dks mi;qDr 

mnkgj.k ds }kjk le>kb,A 

 

****** 

 


